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General Chemistry Chapter 3 Pre-Test

1.) (10 pts) What is the molar mass of tryptophan, C4;H;,N,O,?
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2.) (10 pts) How many moles are in 320 g of (NH,),SO,?
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3.) (10 pts) How many water molecules are in 4.76 moles of H,0?
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4.) (10 pts) How many molecules of CO, are there ir{68 glof carbon dioxide?
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5.) (18 pts) Find the percent composition of each atom in NaHCOg.—
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6.) (20 pts) The compound glutamine has the following percent composition. What is
the empirical formula?
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7.) (10 pts) The empirical formul ance is[CHZO.)\Nhat is its molecular
formula if its mol i§.210 g/mol?
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8.) (12 pts total, 4 pts each) Complete each of the following stoichiometry reactions.

a) A|203 — Al + 02

b) C2H6 + 02 — C02 + Hzo

C) HN03 + NaHC03 — NaN03 + Hzo + CO2
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